


&

Iltem

1190R/28

1190L/28

Iltem

1195/28

Iltem

1190R.700

1190L.700

Iltem

1190R.701

1190L.701

Item

1190.702

Iltem

1190.901

Description

REKLO 2-wing door closer hinge, RH pre-assembled,
in coated or anodized aluminium, internal mechanism
in galvanized steel, nickel, stainless steel and brass,
rubber gaskets, 1 stainless steel stiffening snap, 2 white
galvanized countersunk head screws 3.5x16, 1 black
nylon upper cap.

Like art. 1190R/28 but LH pre-assembled.

Description

2-wing adjustable door hinge made of aluminium, centre
of rotation 26.5 mm, 1 stainless steel pin @ 11 mm,
pre-assembled on nylon cam bushing device, 1 self-
lubricating bushing and 1 cap in nylon. Weight capacity:
2 hinges 120 Kg.

Description

RH aluminium fitting kit for Eurogroove profiles (frame grooves
14-18 mm), including: 2 stainless steel pins for sash wing
clamping, 2 counterplates for sash wing and 2 counterplates
for RH frame wing in rough aluminium, 2 spacers of 1 mm

and 2 spacers of 2 mm in black nylon for sash, 12 socket
head cap screws M5x12 in stainless steel, 2 T15 special grub
screws M6x8.8 in stainless steel and 1 adjustment group in
white galvanized zamak composed of 2 grub screws PCOP
M5X6 and 2 socket head cap screws M5x35 in stainless steel,
pre-assembled.

Like art. 1190R.700 but LH.

Description

RH aluminium fitting kit for Eurogroove/NC Int. profiles (frame
grooves 13-16.5 mm), including: 2 stainless steel pins for
sash wing clamping, 2 counterplates for sash wing and

2 counterplates for RH frame wing in rough aluminium, 2
spacers of 1 mm and 2 spacers of 2 mm in black nylon for
sash, 12 socket head cap screws M5x12 in stainless steel,

2 T15 special grub screws M6x8.8 in stainless steel and 1
adjustment group in white galvanized zamak composed of

2 grub screws PCOP M5X6 and 2 socket head cap screws
M5x35 in stainless steel, pre-assembled.

Like art. 1190R.701 but LH.

Description

Non-handed aluminium fitting kit for Eurogroove profiles
(frame grooves 10-14.3 mm), including: 2 stainless steel pins
for sash wing clamping, 2 counterplates for sash wing and 2
counterplates for frame wing in rough aluminium, 2 spacers

of 1 mm and 2 spacers of 2 mm in black nylon for sash, 12
socket head cap screws M5x12 in stainless steel, 2 T15 special
grub screws M6x8.8 in stainless steel and 1 adjustment group
in white galvanized zamak composed of 2 grub screws PCOP
M5X6 and 2 socket head cap screws M5x35 in stainless steel,
pre-assembled.

Description

Black nylon drilling jig for stiffening snap and upper
hinge positioning, for items 1190R/28 - 1190L/28.

Pcs. Finishes

4 9005, 9010, BL10, SILV,
F

4 9005, 9010, BL10, SILV,

F
Pcs. Finishes
4 9005, 9010, BL10, SILV,
F
Pcs. Finishes
2
2
Pcs. Finishes
2
2
Pcs. Finishes
2
Pcs. Finishes



Applications

Adjustments

HEIGHT ADJUSTMENT LATERAL ADJUSTMENT

After loosening the 3 fixing screws of the upper and By means of nylon shims.
lower hinge using an Allen wrench, use the height
adjustment screw to adjust the leaf (+2/-2 mm).
Lastly, tighten once again the fixing screws.

-2mm +2mm

-

o VT

SPEED SPEED FINAL LATCH

Using an Allen wrench, you can adjust the closing speed of Using an Allen wrench, you can adjust the speed of the final
the leaf. The leaf closing speed can be reduced to less than latch by accelerating the speed in the last 15°, in order to
3 seconds with leaf stopped. ensure a safe closing of the lock.




Door closer hinges REKLO and traditional model

1190L/28

1190R/28

1195/28

€6




Accessories

1190R.700 1190L.700

o Y W U N |
i ‘ ! ! ! ‘ r i : !

}TMT‘ii

1190R.701 1190L.701

e T

1 ‘F-Mjfi : MT@ TM :

| o~ & o
‘ 109
=
L«
©
N
‘ 95.3
:
(D
‘ 95.3
=
L
&
L




Accessories

1190.702

EL} | | | };;bﬁ—rﬁ gL: :
T P e
= = % o 5 4 %
(SR« E— TR 7Y —
@I:rjﬁ% Zbd%rﬁ |
sz %?%ﬁ
Lws

I
95.3

e
(Q:I:
&

I — |
@E
N
_
1190.901
2225 .
T T
Q| 8
22.5 22.5
| }
OO o28 28 & o
[ LI &




N JANV/0

Savio S.p.A.
Via Torino, 25 (S.S. 25) - 10050 Chiusa S. Michele (TO)
Tel. +39 011 964 34 64 - Fax +39 011 964 34 74
www.savio.it - export@savio.it

H\;ﬁfi s Av I o g MIX
V EARTH |Vo3 oo

responsible sources

CARE [ E3S rsccoosser

9507.892 - REV. 0 - 2111017



